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Chapter 3 The Central Force Problem

FIGURE 3.18 The vectors p, L, and A at three positions in a Keplerian orbit. At peril
lion (extreme left) |p x L| = mk(1+-e) and at aphelion (extreme right) [p x L| = mk(1-¢
The vector A always points in the same direction with a magnitude mke. ‘

the orbit. If 0 is used to denote the angle between r and the fixed direction of
then the dot product of r and A is given by

A-.r=Arcos@ =r. (p x L) — mkr. (34
Now, by permutation of the terms in the triple dot product, we have
r-(pxL)=L-(rxp) =10,
so that Eq. (3.84) becomes

Arcos@ = [> — mkr,

or

1 mk A
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